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[L0" To recognise decimals as fractions
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Amir says,

The decimal 0.42 can
be read as ‘four tenths
and two hundredths’.

The decimal 0.42 can

be read as forty-two
hundredths'.

Teddy says,

&)

Who do you agree with?
Explain your answer.
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Trueor False?

Explain your reasoning
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Dora and Whitney are converting o
into a decimal

*  Dora doubles the numerator and
denominator, then divides by 10

« Whitney divides both the numerator
and the denominator by 5

6 _
+ Bothgetthe answer s =006

‘Which method would you use to work out
each of the following?

25 | [125] [ 40| [3s0

500 | | 500 | 500 | 500

Explain why you have used a certain
method.




